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SECTION-A
(Reading Skill : 10 Marks)

1. = Read the following passage carefully :

Air pollution is an issue which concerns us all alike. One can
willingly choose or reject a food, a drink or a life comfort, but unfortunately
there is little choice for the air we breathe. All, what is there in the air
is inhaled by one and all living in those surroundings.

Air pollutant is defined as a substance which is present while
normally it is not there or present in an amount exceeding the normal
concentrations, It could either be gaseous or a particulate matter. The
important and harmful polluting gases are carbon monoxide, carbon
dioxide, ozone and oxides of sulphur and nitrogen. The common
particulate pollutants are the dusts of various inorganic or organic origins.
Although we often talk of the outdoor air pollution caused by industrial
and vehicular exhausts, the indoor pollution may prove to be as or a
more important cause of health problems.

Recognition of air pollution is relatively recent. It is not uncommon
to experience a feeling of ‘suffocation’ in a closed environment. It is often
ascribed to the lack of oxygen. Fortunately, however, the composition of
air is remarkably constant all over the world. There is about 79 per cent
nitrogen and 21 per cent oxygen in the air; the other gases forming a

 very small fraction. It is true that carbon dioxide exhaled out of lungs
may accumulate in a closed and overcrowded place. But such an increase
is usually small and temporary unless the room is really airtight. Exposure
to poisonous gases such as carbon monoxide may occur in a closed
room, heated by burning coal inside. This may also prove to be fatal.

What is more common in a poorly ventilated home is a vague
constellation of symptoms described as the sick-building syndrome. It is
characterized by a general feeling of malaise, headache, dizziness and
irritation of mucous membranes. It may also be accompanied by nausea,
itching, aches, pains and depression. Sick building syndrome is getting
commoner in big cities with the small houses, which are generally over-
furnished. Some of the important pollutants whose indoor concentrations
exceed those of the outdoors include gases such as carbon monoxide,
carbon dioxide, oxides of nitrogen and organic substances like spores,
formaldehydes, hydrocarbon aerosols and allergens. The sources are
attributed to a variety of construction materials, insulations, furnishings,
adhesives, cosmetics, house dusts, fungi and other indoor products.

Smoking of tobacco in the closed environment is an important
source of indoor pollution. It may not be high quantitatively, but
significantly hazardous for health. It is because of the fact that there are
over 3,000 chemical constituents in tobacco smoke, which have been
identified. These are harmful for human health.

Obviously, the spectrum of pollution is very wide and our options
are limited. Indoor pollution may be handled relatively easily by an
individual. Moreover, the good work must start from one’s own house.
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On the basis of your reading of the passage, answer the following
questions :

(a)  What is an air pollutant ?

(b) In what forms are the air pollutants present ? 2

(c) Why do we feel suffocated in a closed environment ?

(d)

What' is sick building syndrome ? Mention some of its major -
symptoms. 1+1=2

How is smoking of tobacco an important source of indoor air
pollution ? 2

'Find a word in the passage which means “the state or process of
dying from being deprived of air or unable to breathe”. 1

(g) Give an antonym of “reject”,

(e)
0y

1

SECTION-B
(Advanced Writing Skill : 25 Marks)

You are Anwesha / Anirban, Director of “Scholars’ Academy”, an institute
that provides coaching to students for appearing in various competitive
examinations. Write an advertisement for publication in a newspaper

(Word Limit : 50 words) S

OR

Design a poster in not more than 50 words to create awareness about
the need of energy conservation. 5

You attended a Book Fair in your town organized by a local NGO in
which a number of reputed publication houses of the country participated

Write a detailed account of the event in 100-125 words to be published .
in a newspaper. 10

OR

You are Jahnavi / Javed. Your school has organized a Street Play on the
occasion of the International Day Against Drug Abuse and Illicit Trafficking

on June 26. Prepare a report on that event in 100-125 words to be
published in your school magazine. 10

Write a letter to the Manager of a bank reporting the loss of your pass-
book and requesting him to issue a duplicate one. 10
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OR
You are President of the English Literary Forum of your college. \;\“’Ilc
a formal invitation inviting Dr. D. Baraah, o noted scholar Lo speak ()I(l
the occasion of the “World Poetry Day” to be held on March 21. 10
OR

Draft an application for the post of a Sports Teach
High School, Dibrugarh in response to their advertise
in the Assam Tribune dated 10th February, 2023, Pre
be enclosed. You are Sunil / Sunita,

SECTION-~C
(Grammar : 20 Marks)

er in Udayan Girls'
ment that appeared

pare a biodata to
10

5. Clmngc the form of the narration of any two of the following sentences
. 2)(2.'.;34

(a) The gentleman said to the salesman, “What is the price of this
Dictionary ?” The salesman said to him, “It is a bit expensive, But
I can give it to you at a 10 per cent discount”.

(b) 1 asked the old lady where Professor Sarmah lived. The lady replied
regretfully that she didn’t know.

(c) The girl said to the teacher, “Madam, I am weak in English and
seek your advice.” The teacher said, “Read the text thoroughly and
try to express your idcas in simple correct English.”

(d) “Let’s buy some milk and prepare milkshake for us”, said Aruna.
“The milkshake we're drinking now is utterly tasteless.”

6. Change the voice of any three of the following sentences 1x3=3
(a) He was instructed by his coach to play that shot.

(b) Please give me some more time.

(c) Is the gardener watering the plants?

(d) Rome was not built in a day.

(e) The girl is reading a novel,

(N 1 saw a road accident yesterday.

7. Rewrite any five of the following sentences using the verbs given in
brackets in their correct tense forms : 1x5=5

(a) This family (live) in this place since 1970.

(b) She (go) home when we mct her.

(c) We reached the stadium after the match (start).
(d) Ice (float) on water.
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(¢) 11 (be) you, I would not do that.
()  He suddenly realized that he (leave) the bag in the bus.
(@)  We already (have) breakfast..

8, varitc.any Jour of the following sentences filling in the blanks with
appropriate prepositions . 1x4=4
(@) They will come here a month,

(b) 1 am sorry what I havc done,

(¢)  She usually falls her bicycle.

(d) He is taller than you three inches.
(¢) 1 am not satisfied my performance.
(/) The police ran the thief.

9.  Rewrite any four of the following sentences as directed : 1x4=4

(@) This fact is too evident to require any proof. :
(Use ‘so...that’ instead of ‘too...to’)

(b) 1 shall remember your help forever.
(Make it negative without changing the meaning)

(c) Having completed her project here she returned to her native
country, (Change it into a complex sentence)

(d) She is the tallest girl in the classroom.
(Change it into comparative degree)

(¢) No one can do this. - ' (Make it interrogative)

(f)  There is a slight difference between the two shades. :
(Rewrite the sentence by using the adjective form of ‘difference’)

(g) As he was ill, he could not appear in the examination.
(Change it into a simple sentence)
SECTION-D
{ Textbooks " : 45 Marks)

10. Read the following extracts and the questions that follow :

(@) “But soon
put that thought away and looked out at
Young | |
Trees sprinting, the merry children spilling
“Out of their homes”
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(b)

Questions :

(i) Who looked out at the young trees ? 1

(i) Which thought did the speaker put away ? 1

{iii} What do jroung sprinting tree signify ? ' 1

(iv) What did the speaker see the children doing ? 1
OR |

“t would be an exotic moment .

without rush, without engines,

we would all be together

in a sudden strangeness.”

| Questions :

(i) What does ‘it’ refer to? . 1

(i) To whom is the poet speaking ? _ 1

(i) What would be the moment like? 2

11. 'Ansulfer any three of the following qﬁestions in 30-40 words : 2x3=6

(i) Why was the roadside stand built ?

(i) How did the travellers on the highways react to the roadside stand ?

(iiij What does Pablo Neruda wish to achieve by keeping quiet ?

(iv) What kind of images does the poet use 'to signify her mother’s
ageing decay in the poem ‘My Mother at Sixty-Six’?

(v) What, according 1o Keats, makes human beings love life in spite of
troubles and sufferings ?

12. Answer ariy five of the following questions : ; 1x5=5
(a) What creatures did the writer notice on the Peacock Island ?
" (b) What are epiphytes?

(c) What did Gandhi do to improve the health condition in the
Champaran villages ?

(d) Which book by Louis Fischer has been reviewed as one of the best
books ever written on Gandhi by Times Educational Supplement ?

(e/) Whom did Saheb observe standing at the fenced gate of the
‘neighbouring club ?

() Who,is the writer of the story “The Last Lesson” ?

(g) Which is the only occasion that Sophie gets to see Casey in person ?

(h) Name the sports for which Sophie’s father had a strong passion.
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13. Answer any five in 30-40 words :

14,

15.

16.

(b) Describe the author’s ex

2x5=10
(a) Why did Sophie share her feelings with her brother Geoff and not
with her father ?

(b)  Why, accordin

g to the writer, the advice she gave to Saheb seems
hollow ? ;

() What explanation does the a

uthor offer for the children not wearing
footwear ? .

(d) What does Rowntree talk often in ‘Memoirs of a Chota Sahib’?

(e} How was a solution to the
Champaran found ?

(/)  Why did M. Hamel write
class? .

problems of indigo sharecroppers of

“Viva La France” before dismissing his

(g9 What changes came over Frantz after he heard M. Hamel’s

announcement ?

Answer any one of the following questions in 80-100 words : 5x1=5

(a) “Civil disobedience had triumphed, the first time in modern India”—
Show, referring to the prose-piece ‘Indigo’, how this had happened ?

perience with bats in the Rajapara forest
bungalow as depicted in ‘Memoirs. of a Chota Sahib’.
Answer any one of the following questions in 125-150 words :

' Tx1=7

(@) What are the different ways in which Mr. Lamb tries to éhange

Derry’s attitude to life ?
(b) Describe the ironical ending of the story, “The Tiger King”.

(c) There are moments in life when we have -to make hard choices
between our roles as private individuals and as citizens with a
sense of national loyalty. Discuss with reference to the ‘story, “The

Enemy”.
Answer any four of the following 'questions in 30-40 words
(@) Why does the Tiger King get his name ?
(b) Why did the servants leave Dr. Sadao’s house ?
(c) Which trait of Mr. Lamb attracted Derry towards him ?

(d)° Why did it take Bama to reach home i
10 minutes ?

(e} What is the significance of Uruka?
(f/ How is the Meji made ?

: 2x4=8

n 30 minutes instead of
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PART-A (¥ -9)

Q. No. 1 carries 1 mark each (any six)

Q. No. 2 carries 2 marks each (any six)
Q. No. 3 carries 4 marks each (any five)
Q. No. 4 carries 6 marks each (any two)

PART-B (4 -52¥)

Q. No. 5 carries 1 mark each (any six)

Q. No. 6 carries 2 marks eacl (any six)
Q. No. 7 carries 4 marks each (any five)
Q. No. 8 carries 6 marks each (any two)

Total (Part A & B):

1x6 = 6
2x6 =12
4x3= 20
6x2= 12
Total = 30
1x6= 6
2x6 = 12
4x5 = 20
6x2 =12
Total = 50
50 + 50 =100
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An‘swer'any six from the following questions :

PART-A /-9
( Contemporary World Politics)
(T fd Ao )
1x6=6

fAfiRe ek @ b7 Tea @l ¢

(a)

(b)
(c)

(d)

(e)

V (g)
(M)
(i)

()

In the Second World War, a member of the Axis Powers was the US /
Soviet Union / Germany. (Choose the correct answer)

ﬁ%ﬁwﬁwnﬁﬂwﬁﬂwa@%mm@/ﬁm@
T / @il | (% TeAl (R AS)

How many independent states emerged from the dlsmtegratlon of
the Soviet Union ? .

mﬁmﬁﬁ‘ﬁmﬂﬁswma—@ﬁmaﬂmﬂmw

In which year 9/11 terrorist attack on the United States was carried
out ?

R T SRR EIEA T /5> PRI St FRafoe afee 2

In which year was Bangladesh born as an independent country ?

@ A e G [T TG R o o

In which country was the Earth Summit held in 1992 ?
(I AME Sob (T I AT OO m\%a

Writé the full form of UNEP
UNEP-&3 =4 Filo =l

Who is the present Secretary General of U.N.O?

AT ISA AL AL (F?

When did Cuban Missile crisis occur ?

@I A R CFE TR RIS A 2

Berlin Wall was demolished in the year . (Fill in the blank)
AR oremiE . e otet TARE | (92 %4 FCN)

The collapse of which country is known as the collapse of the “Second
World” ?
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2. Answer any six questions from th

2x6=12

e following :

fafefae emialR @Rl g Ted Al 8

(a)

(b)

(c)

(d)

e)
"
64
(h)

()

()

Mention two consequences of the end of the Cold War.

Stel Tm (1@ BSWA 75 AR ToAd

Which were the member countries of ASEAN when it was formed in

1967 ?
Syua FE ASEAN 9I9TRE FaGa FRAG0A FPT AGelE s =

What is the difference between Deterrence and Defence ?

gﬁﬁa@maaﬁw&mmvﬂw&?

Mention any two areas or regions of the world known as Global

Commons.

G ety A0 SIS AT @I 7fF BReTE W el |
Mention two causes of Globalisation. \

Mention fwo economic consequences of Globalisation.

iR 7o Sties AAfRe T S

Mention two conceptions of Security. :
g 75 amel T IR '

Mention two areas of conflict between India and China.
OE® GAR BINCIE W04 RASA 710 e B I |

Write down the names of the Permanent Member States of Security
Council of U.N.O. , .
AT Waeal AR 2 W el N el

Write two constraints on American hegemony.

i wifdeirer g6 efeamel @At

Answer any five from the following questions :

 4x5=20

e emielE @ v ae Te @l ¢

(a)

(b)

Discuss how the policy of non-alignment helped India during Cold
War period.

| . ' |

Briefly discuss the factors that forced Gorbachev to initiate reforms in
the Soviet Union.
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(c)
(d)

g

(g)

(h)

(i AR T (iferEe ZefacT AF G TS A4 FCAM,
FCFCA S A |

Mention fwo economic and two military influence of th
Union. '

TN TR 715 AT @R 75 AR A Wﬂ Tl
Mention two areas of co-operation and two areas of disagreement

between India and Bangladesh.
SRS @K ST 7fE AZAAS R 45 T R Soerd Al

e European

“Write a note on the idea of global security.

TR FRIPER 4ReR - eo{d @i il el
Write a note on the anti-globalisation movement..
i Rt sieaeer Raw 99 51t @l

What are the grounds on which India supports the restructuring of
U.N.O. ? Discuss.

%gﬁfw?ﬁ—ﬂma@ﬂw%m Ww@wwml
Discuss in brief the functions of the World Bank.

™ e IR ACHA S I |

Answer any two questions from the following : 6x2=12

Remie exefm @@ 77 Te @1l ¢

(@)

(b)

(c)

(@)

Discuss U.S. hegemony as the World Supe‘fpower ‘
e e e SR JEACE WiHeATeR Rac wicewa e |

Discuss how health epidemics are new threat to global security.

Wmﬁﬂfg%wﬁﬂﬁw@wﬁﬂﬂ%mﬁmaﬂw
A |

Do you think that India should be given permanent membership in
the UN Security Council ? Justify your answer.

WW\WWWWWﬁW%WWWwW
@ (2 comi Tem AATE (e we |

Write a note on the principal organs of the United Nations.

AT T3 SrofEe eotm @l B @l
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5. Answer any six questions from the following :

PART-B / 4-9
( Politics in India Since Independence)

( Tareq erFred G )
1%6=6

fxfiRe axofr @@ Fiog beq (Tl 8

In which state of India, for the first time in the world, a Communist

a
e Party government came to power through democratic election ?
SRS (o AN, AT T TR ST, (I B A
TSI THAISTR TCH ool Tt PR ?
(b) was the chairman of the Drafting Committee of the
Constitutent Assembly. ' : : (Fill in the blank)
<R ToR 47 AR oS REm  (grEA % e
(0 Where was the first summit of NAM held ?
NAM-GF @2l T ACHeH (FIUE oo LA ?
(d China invaded India in 1960/1962/1964. (Choose the correct answer)
51 SITS SFd FRARE Sdvo/ Sdur/ Sous HAH | ,
, (Hfe Tealt @z )
() Mention the name of a prominent leader of the Narmada Bachao
Movement. & . ‘ . : ,
F5T HBS . SR GG 2 (@O / (a1 AW S Tl |
(/ When was the State Reorganisation Act passed ?
AT 2FsToq SIEAG IR A 2o TARE? |
(g9 The Right to Information Act came into force in 2005.
, : ; _ v
el T SEFIE SR 200¢-9 TR A | (}%BWT% géifefﬁ
() In which year the Shah Commission of Inquiry was appointed ?
*([g ©WE Sl (P TR e w9 At
(i) Who started “Total Revolution” ?
e Re7 & IR FAke?
() Who was the founder President of Bharatiya Jana Sangha ?
, SRS GPICEd Aforrel HeHle (¢ R 2 |
6. Answer any six questions from the following : 2%x6=12

| frfRe eefm @ BT TR (e ¢

(a)

Mention fwo challenges India faced immediately after independence.
FPel Ficen (5% e oo @ gff 4ot YA TR G
1
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(b)) Mention two consequences of the Partition of India.
e f[Isrera o sifas Tud I
(© Who was the official Congress candidate for the Presidential election
in 1969 ? Who won the election ?
Sy TR AR BrfioTe e ww andh o fager ¢ o 6@
TS AR
(d) What do you mean by Defection ?
ol TS {6 e
(¢) Mention two consequenccs of the Mizoram Accord signed in 1986.
SBbY- (3 RFRS 2 RTeRm pfen g6 oA Sy T
() Mention two features of popular movements in India.
SIATST SerREmalER 75 @aRe T I
(g) Write two causes of origin of regionalism in India.
oo SiwfFEeRitE T 75 PRe @
()  Write any two features of coalition government in India.
SRS RS FIFER (F-(PIea! qfo (@8] Al |
(i) Write two consequences of 1977 Lok Sabha election.
593 ATEE @ o FveR 75 T @ |
() Mention two consequences of National Emergency declared in N 1975.
S59¢-9 mﬁﬁﬁﬁﬂwﬁaﬁmw RIERICA R el
7.  Answer any five from the following questions :  4x5=20
s eroffm @ Abfls Tea @t s
(a) Discuss briefly the causes of the dommance of Congress Party in the
politics of India after independence.
FIFOR #7 SIS ATHIGTS FLAT TER Afdorer FrRaeial ‘H\C’W‘?I
@ IR |
() What were the ma]or objectives of Jawaharlal Nehru's formgn policy ?

Discuss briefly.
Sz G W A% T A 9 et e e

- AN

33T POSC (BENG) ' [6]

T EEEE————— ot o Wy



(c) Write a short note on the demands for autonomy in North-East India.
SRTeA Te it FRGIPTER WikE esiE @5 ARG BIe |
(d)  Discuss the factors that helped BJP to emerge as a dominant political

party.
ﬁt@ﬁwmm%*ﬁwmﬁwwwq@% GICEB

T

~ (e) " Give suggestions to curb communalism in India.

SITSAE AreMITTORN @R oo o 718 |

() Write a note on India’s nuclear policy.

RS ARNRE Tifen eoim 9 G Tl

(g9 Mention two positive and fwo negative consequences of the Green
~ Revolution.

e [ReEa wﬁmsnw G 75 AT TeArRE KAy Srmd Al |
() Write any four features of Indian party system.

SRS W I9ZR mmmmﬁfaﬁﬁ;mm/

8. Answer any two questions from the following : - 6x2=12

FfiRe exelm St @~ e e =Tl 3 '

(1) Discuss the changing relations of India with Pakistan.
ARPSIGR 0 SRS ARTOTN Folh [T A |

(b)) Briefly discuss about the controverSIes regarding emergency. Was
the emergency necessary ? 4+2=6
WWWWﬁ@%ﬂ\mﬁWWIWW
e 3R e e e

(c) Explain the reasons for the emergence of the Coahhon Polities in the
Indian Democratic System.

SRS S1TeIfEE ITFR HIE AT SERR FRAGHE 70 I |

‘(d What do you mean by planned development ? Discuss the role of

Planning Commission in the development of India. = 2+4=6
sfffefere [ M m?mﬁmﬂﬁmmﬂam
A S|

s

33T POSC (BENG) _ [7]



Total number of pages—16

33T HIST
BENGALI
2023
HISTORY
Full Marks : 100
Pass Marks : 30
Time : Three hours ,
The figures in the margin indicate full marks
for the questions.
Q. No. 1 carries 1 mark each 1x12 =12
Q. No. 2 carries 2 marks each _ 2x12 = 24
Q. No. 3 carries 4 marks each ' 4>‘<10 = 40
Q. No. 4 carries 6 marks each 6x3 =18
Q. No. 5 carries 6 marks each 6x1= 6

Total =100

Contd.



1.  Answer the following questions : (a'ny twelve)
fafafe emefm e we ¢ (@@ )
(i)  Write the meaning of the word ‘Mohenjo-daro”.
pleciciicEA] Qe
(i) Who was known as ‘Devanampiya’ ?

'

4

(iti)) Who firét decipheréd Brahmi and Kharosthi scripts 7
~_@mﬁmmﬁwmm?
(iv) Who authored ’Arthagastra’-? ‘ |
SeIRE (Tl AR ¢
(v) Who was the fOL-mder of tﬁe Varmén dynasty ?
1 e G elfedt et ) |
(vi) Who described painting as a ’;nagical art’ ?

(vii) Name one major composition of Shrimanta Shankardeva.

- A% AFAACET G0 ST AT AN @R |

33T HIST (BENG) [2]
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(viii) What does the word ‘Harem’” mean ?

QI *= o & @R e

(ix) Where was Guru Nanak born ?
T A T G T
Gy What was Mabeiivai Dibba ?
TR T (e
: (xi) Who was the last Mughal Emi)eror?
Y A 1 W & fegeie
(xii) Who introdqced Doctrine of Lapse ?
weReEA N o e T
(xiii) Who coined the name ‘Pakistan’ ?
‘sffem ata T & Mcafee 2 |
(xiv) When was the Indian National Congresé formed ?
! | | w@aé@aa«ﬂw‘wm‘w?
| (iv) Where was the firét girls’ school opened in Assam ?
T e AR R (I o = AfE
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(xvi) Name the famous work of Ibn Battuta.
. T 0 Ragre arzfa A |

2. Answer the following questions in brief : ( any twelve ) 2x12=24

R emofm sy Sea we ¢ (e F5)

(1) . .Write fwo causes bf the downfall of the Harappan Civilization.
-@zn TSR ACER 7o IR (A |

(i) Who were the Prativedakas ? Mention one duty of the Prativedakas.
mﬁqwﬁcﬂﬂ?mmmﬁWWW|

(ii1) Give two‘exar.nples of right occupation.

e SR 76 Tt e |

(tv) Name the four divisions of Kamrupa as mentioned in the Yogini

Tantra.

WWWWW@WM B STt A g
(v) Give two Iexample_s of Buranjis written in the Ahorﬁ period.
SR oot e T g6 W (o) W ey,
(vi) Nar.ne two kinds of postal sys;em in Indié. -
SIS WIS 76 ©IF TGIER AN (T |
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(vii)) What were the two land revenue arrangéments under the Mughals ?
T JooR ofel Ay gl 4o & & f%i?
(viii) Who discovered the ruins of Hampi and when ?
(F, R YA TR RO SRR Feafee 2
(ix) Mention two sources used to reconstruct the history of Sufi tradition.
el Wﬁ%ﬂﬂ ?ﬁzﬁ‘iﬁmﬁ_@m INTS zﬁ?“@ama%m%mﬁmln
(x). Who -were Lal-Bal-Pal ? | |
ST (S e e

(xi) Name two novels based on India’s partition.

ore Reaer «tehite b 75 SHWTR AN @Rl
.(xii) Name fwo important crops grown in Awadh.
SR G 2El 72 AT TAEE AN A |

(xiii) Write fwo limitations of oral sources.

WW@WMl
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W

- : mmittee of the Indj
(xiv) Name any two members of the drafting COmmL lan

Constitution.

SRSR TR 216! Aafen (@@ 72ee T 99 Gl

(xv) Write two characteristics of the Indian Constitution.

Answer the following questions : (any ten)

SRS HRUCK 775 (aRigy G |
4x10=40

f=fite aefn Se me ¢ (- wifz) -

(1)

(1)

(111)

(iv)

()

- Explain the pattern of domestic architecture of Mohenjo-daro.

LM 92 el gy << f6 it wie |

What were the different rules of mar;iage suggested by the

‘Dharmashastras’ and ‘Dharmasutras’ for the Indian Hindus ?

G O <R S G R S ORI foe e oo

Write a note on the administrative system of the‘ Mauryén Empire.
(TR ASCSR 2 TER R xﬂ?h‘l% Bil G

Write a brief note on the Renaissance in Assam.

A FGIRR R Gl e S e

Discuss about Mir Jumla’s invasion of Assam.

TR QR S ISR RE Sies @ |
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(vi) Discuss the role of Maniram Dewan in the Revolt of 1857.
Svreq IR fRicaic AR (TSR SRl At Sl S |
(vii) Give a brief dkescription of the fortification and roads of‘Vijaynagar.
fRemmaiEa w5l @ AP @i [K9e9 e |
(viii) Write a note on Abul Fazal's “Ain-i-Akbari’.
'W TR SR R R 4o T T
(ix) Discuss the major teachings éf Kabir.
FAIEE I TR W'Wl
(x) Why did ‘the Santhgl rebel against the British rule ?
(xi) Give a description of the architecture of Bombay.
QT (TAR) FoiroR b [@ed nis |
(xii) Write an essay on the Quit India Movemgnt'.
O G SR A < T
(xiii)) What was Gandhi—lrwin Pact ? Writé two terms of fhe Pact; ‘ 2+2=4
| MR- Hfe e Lﬂiﬁ“w 75 Wl (TRl |

(xiv) What were the problems with seperate electorate ?

ojer COBIRTER Tl e e
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4.  Read the following passages carefully and answer the questions that

follow : (any three) 6%3=18

s sisiiel on w@ v «gag el TE 118 ¢ (o~ fealo)
(n) Prabhavati Gupta and the village Danguna.

This is what Prabhavati Gupta states in her inscription :

Prabhavati Gupta...commands the gramakutunibinas (house—holders/
peasants living in the village), Brahmanas and others living in the
village of Danguna...”’Be it known to you that on the twelfth (lunar
day) of the bright (fortnight) of Karttika, we have, in order to
' increase our religious merit donated this village with the pouring out
of water, to the Acharya (Teacher) Chanalasvamin... You should obey
all (his) commands...
We confer on (him) the following exemptions typical of an agrahara..
(this village is) not to be entered by soldiers and policemen; (it is)
exempt from (the obligation to provide) gras's,. (animal) hides as
seats, and charcoal (to touring royal officers) : exempt from (the royal
prerogative of) purchasing fermenting liquors and digging (salt);
exempf from (the right to) mines and Khadira trees; exempt from (the
obligation. to supply) flowers and rn_ilk; (it is donated) together with
(the right to) hidden treasures and deposits (and) together with
. major and minor taxes...” ‘

(i) What was Agrahara? 1

(ii) Who donated the village and to whom ? , 141=2
(iii) What were the exemptions granted to the Agrahara Danguna ?

3
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ASITS] W AR wAwAl i
seiqe] we i FEre Sy IEeEl.......

oS! @ .. AW RN (A 2/ FT) A R T A =
QAo o W, .

 RIE @1@112( SHIE AR @ e AeE s e fofire 4
et i e W T o (R S wes @ 4 @

A | TR O T SO AT A 1 |

S el RS SoE (g ot el ZarE | < i A O
TR e B | S S A e qa] Siv [ A
Al SReTE W GReTl g (A AR FE (ReTl TECRI A

I T @R TR 4N TR e SRR ALY T Qs [@e

Qi | WS o, AR 9 (AT Besiifne AN, T R 7H (e (U
AEIEE @R ren TR AICE TS A s el AR e

@ wemAfRr ' 1
(i) G, I LAl A W w2 ' ' | 1+1=2
(i) e & & ova @9 oeal Al 3
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% rh discussion
() The Buddha (and other teachers) taught orally-throug

‘ ' : 1) attended
and debate. Men and women (perhaps children as well) attende

these discourses and discussed what they heqrd. ‘After his death
(cfifth-fourth century BCE) his teachings were Complied by his
disciples at a council of ““elders” or senior monks at Vaishali. These
compilations V\;efe known as Tripitakas-literally, three baskefs to hold

different types of texts. They. were first transmitted orally and then

written and classified according to 1engfh as well as subject matter. =

The _Vinayé Pitaka included ruleé and regulatioﬁ; for those who
joined the ‘sangha or monastic order; the Buddha's teachings were
inciuded in the Sutta Pitaka; and the Abhidhamma f%ifaka dealt with
philosophical matters. Each Pitaka comprised a number of individual -

texts. Later, commentaries were written on these texts by Buddhist

scholars.
(i)  What are Tripitakhs ? Name them. . 2_,_1;3
(i1) What do the three Pitakas deal with ? 3

33T HIST (BENG) [10]




g 6 o s elplE S A QA FTR-FEIRETE O GK GATTTZ
CNRse 2lbie SRMRER | 7, Wil Feaes et S (Aol feat | Irad
SRR S| (I TG A T el (i < 2 | O R
o1 (43 7j2 ~{eT-e o) THIITICS oS @b 4 GG SIS OT

. WWWWQimmﬁﬁ%ﬁ:wwmﬁl

i Fife e oenl QaER T o e A RS |«
el o 4 s R R ATy el | o e N
SIE ER (AT S (e Tl | SRR e SR ol 2T
o = FibRE. w9 e ffcs feb P R e 2 —

R, o[ R S B |

ﬁm%ﬁmﬁmﬁﬁwﬂ%ww a%awwm-ﬂ%—
el ste fﬂm@ia@(ﬂg)ﬁmmwﬁmﬂ@%ﬁw IESRUEH
Wﬁﬂwwmmﬂwmumﬁ%ﬁmﬁm
53 | "RREE (T wferenl « ST Gl o oA wEfeE |

@ fabos ¢ fafvmelm aW @t ‘ 2+1=3

(i) Fvwsfrs & [ frfor = 2oaCRl , . 3
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(¢) Ibn Battuta’s account of Delhi
arge population... The

The city of Delhi covers a wide area and has al

rampart round the city without parallel-

and inside it are houses for

The breadth of its wall is eleven cubits;.

night sentry and gate-keepers. Inside the rampa
ammunit

rts, there are store-

: i ballistas and
houses for storing edibles, magazines 1011,

siege machines. The grains that are stored (in these T
for a long time, without rotting:..In the interior O
horsemen as well as ihfantrymen move from one end of the city to
another. The rampart is pierced through by windows W
" the side of the city, and it is through these windows that li
inside. The lower part of the rampart is built of stone ; the up

of bricks. It has many towers close to one another. There are twenty
of these, the Budaun

amparts) can last

f the rampart,

hich open on
ght enters
per part

_eight gates of this city which are called darwaza,
darwaza is the greatest; inside the Mandwi darwaza there is a grain
market...It (the city of Delhi) has a fine cemetery in which graves
have domes over them, and those that do not have a dome, have an
arch, for sure. In the cemetery they sow flowers such as. tuberose,

jasmine, wild rose, etc; and flowers blossom there in all seasons.

() How many gates were there in the Eity of Delhi ? Name the

greatest gate. 141=2

(ii) Give a brief description of the ramparts of Delhi as described by
Ibn Battuta. » 2

(iii) How was the cemetery of Delhi ? . 2
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234 R0t gl fmEn—

) worl® gz TEERAE ST G e e grs i | “zafe S AR
| il AR G| 2AfReE Atz o 76 e | g fown e e e
ORI AR TE A | e foem alerm 9, GH-arm, CRAE
2 g5 i TaelifoR Siem fit | 62 ool fowr 2 eoE T
@ e el | pioa foom wMa® @ Amfes Ry Ao <% M2
QT (13 T~ qE @S| b e @ | e Mo 4
il fren fewafS e @ e | eremETelem s T Al @R
Toitem ik T ficw FifEfs a1 S (< el rge fee | G
18 5 el e, qefns menel T 2| QBR T W (A T
mem@ﬁ%ﬁwﬁem|wﬁ@emmmwwfﬁl
. Jo e <ol o g T | efelt S el G T NS
w3 el 2Bt | I SR SRS, ATl GO, SR cottentat
3@ﬁﬁ”§a‘Gﬂﬂq?ﬂﬁﬁ?r£217PWffﬂﬁisEG<di§§ﬁ@ﬁﬁ§ﬁk@1

() - e «a sl drRR e TR (A 0T A REta A & fee e

1+1=2
(i) 23 A0 ﬁﬁ?@ il pfefm g ad we | 5
(i) il e o e e s g ;
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(d) "1 believe éeperate electorates will be suicidal to the 1L.ninorities.”
-During the debate on 27th August, 1947, Govind Ballabh Pant said,

“I believe seperate électorates will be suicidal to the rﬁinorities and
will do them tremendous harm. If they are isolated forlever, they can
never convert themselves into a majority and feeling of frustrétion
-\‘/v.ill cripple them even from the very Beginning. What is it that you
desire and what is our ulﬁmate_ objective ? Do the minorities always
Want to’ remam as minorities or do they ever expect to form an
integral part of the great nation and as such to gulde and control its
destinies ? If they do, can they ever achieve that aspiration and that -
ideal if they are isolated from the rest of the cémlrnunity ? I think it
woul;:l be extfemely dangerous for them if they were Asegre.gated
from the rest of the community and kept aloof in an air-tight
~ compartment where they would have to rely on others even for the

air they breath... The minorities if they are returned by séperate

electorates can never have any effective voice.”

(i) Why did Govind Ballabh Pant believe that seperate electorates

would be a su1c1dal step to the minorities ? . g

(ii) Why, according to Pant, seperate electorates would be dangerous for

the minorities ? 3
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a0 o

(i)

(i)

‘Wﬁ@rﬁﬁ%ﬁa‘mﬁwmwwm@mr’ .
msqm;qmm@ﬁ@éwmmmﬁwwﬁ«ﬁ%ﬂ,

‘Wﬁ@ﬁoj%ﬁ%ﬂﬂwﬁmwwﬁmmzwmwfw
R e | ol A R T G A T, Of (I RIS 2O
PRI =1 3% T TR SIS ST U (AL A%, A (< | SHeAet
5 B 92 o S Srel e ARETIA! Fal ARG 2 2Y[FCS BT
a1 R G Feiie S SRR S T ARTS B R CTOI Ol
Wﬂﬂmm-ﬁwﬁw«ﬁmqwmwﬁmﬁ?m,mmﬁﬁ
TemEef cmq%m@ﬁwﬂm&@@mmwmﬁw -

i I, S o SIRE (A 52 G ST T SN [ATe
|G gen A TS Al A G0 SRR E 2 AR, I AT
St Hewd memwmmatwmmwmﬁmﬁéaw
A \..... TR 72 b T Rbe e S (G T
Sfowe AR 17

() e FRIbEes FRATIOR O Sl T iR IS AT

@ SR 3
(i) SRR O 42 Fbemed wfe Reeee 79 W@ AT T
CefRrE 2 o 3

Draw a map of India and plot three areas under the Mughals.
' 3+3=6

SeTr «F e THTY S a2 e IR G SeE e |
Or/ G |

Draw a map of India and plot three places where the Revolt of 1857
held. : ' 3+3=6

| Siaeara @ TAbE SiE @1} Steq AR [raz 267 foafT SiwE e |
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o g T M N R i, i Rl e

2x10=20

:(Laza ;,m)z;a"\nmwu;u.ﬂ

Answer the following questions : (any ten)

Ta emialEm Seg wie ¢ (@I o)

MRCTRN RGO T:A g |« j3La

R A g O pluadl po a

¢ Tmell Gl Ja 2yl 557 ) sl s e
¢ eluadl daals Caad d“ )

¢ tmand Jiys o G, JE 1L

¢ oJY_;\ sezeallaads (r?"ﬂ‘ grid| g

(1)
(r)
()
()
()
(1)
(¢)
()
()

9@@5&@6@31‘%3&#\“&1 ol (1)
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Translate any two of the following passages into your mother tongue or English :
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Put this sign (') for correct statement and this sign (x) for incorrect statement :
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Correct the following sentences as per the text : (any five)
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Answer the following questions : (any five)
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Explain, with reference to the context, any one of the following verses :
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Write the synonym of the following words from the brackets :
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Answer the following questions :
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Correct the following sentences : (any five)
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Change the following sentences into plural number : (any five)
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Put the following Lua in the appropriate column :
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Write an essay on any one of the following topics :
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Make sentence with each of the following words : (any eight)
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Write the following passage and put vowel points to it :
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Read the following passage and answer the questions given below : (any seven)
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Translate the following sentences into Arabic : (any seven)

ﬁcwmaﬁwﬁwwms(mﬂmmﬁ)

(n)
(b)
(c)
(d)
(e)
()
()
- ()
(i)
()

The girl is going to school.

Don't play on the road.

There are seven days in a week.

Assam tea is famous in the world.
Khalid is sitting in his office.

The mother is busy in that room.

Where are you going with your family ?
What a beautiful car this is!

Hamid is the best student in the class.

I study Arabic language.

x
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(i) This is a beautiful garden,
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(i) My father is a teacher.
(i) ‘That book is on the table.
(iv) They are going to school.
(v) He will write a letter to his friend.
(vi) What is your name ? |
(vii) Shaikh Sadi was a poet of Iran
(viii) Assam is famous for tea and silk.

(ix) Last year, I did not go to Delhi.

(x) What a beautiful house !
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33T ALTE

GROUP - A

1. Give brief answers to any five of the following : 1x5=5

(1)  Where did the christening ceremony take placc?

(b) Where from had the new vicar come ?

() Where does man’s ultimate destiny lie, according to R. K. Narayan ?

(d) Who fell on R. K. Narayan's car when it was parked in front of the
hospital ?

(¢)  Who was Sudheer ?

()  Why was Mriganko Babu travelling to Durgapur ?

(g9 Who called the witch doctor ?

()  Who asked Mriganko Babu, “Can you recognize me, Babu ?” ?

(i) How much money does Della have ?

(j)  What is there between the windows of Della’s room ?

(k) What gift does Jim buy for Della ?

() Why did Robert Lynd read Emerson and Marcus Aurelius ?

(m) Who is Zeus ?

2. Answer any five of the following : 2x5=10
(n) What happened to the series of gowns in the sixteen year long service
~ of the Verger?

(b) What was the discovery that had astonished the vicar ?

(¢ How are one’s privacy and anonymity lost, according to
R. K. Narayan ?

(d) Why does R. K. Narayan think that the book called ‘Testament of a
Walker’ may never be written ?

() Why did Mriganko Babu think that birds were foolish ?

(/) What did Mriganko Babu decide never to do again ?

(g) What were the two priceless possessions of the James Dillingham
Youngs ?

(h) “May be the hairs of my head were numbered, but nobody could

ever count my love for you” —in what context does Della say this to
Jim ?

[2]
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() Do hiat comtest dows b inention Saolomen

() Why s Plhiny the Plcer fmons ¢

Give brder anawers oy theee ol the following, IR RED W
i}

(0 What wan the Vergers improsaton about the new vicar
(0 What does make R Navayan foar that e would soon be bankrapt ¢

() Deseribe, how the wearecrow gradually tarned Intoa hiaman Hyggare in
front of Nriganko Babu,

() What does Jine say o Della when whe holda out hee it for hilm on
her palim ?

() Describo the chreumstancens inowhich Lynd wan fed to read Epletetan,
Explain with reference to the contoxt on any two ol the following ;
=N
() "L think a Tot of these youny, fellowns waste a rare lot of Hime reading,
when they might be dotng something uselul.”

(1) "Two eyelists collided and (el on my car parked I front of the
hospital, and smashed the parkiog Tight on the left wide.”

() "Ttwas the end of January, Al the erops had been removed from the
fields.”

() “Territicd, Mriganko Babu took a fow steps backwards and stood
leaning, heavily against his car.”

() “Oh, and the next two hours tripped by on rosy wings. Forpet the
hushed metaphor, She was ransacking the stores for Jim’s present,”

() “They were expensive combs, she knew, and her heart had simply
craved and yearned over thenmy without the least hope of possession,”

Give brief answers o any five of the following, | x5=5
() Who is the fair Tady the narrator speaks of in the poem “Sita” ?
() What are the three happy children doing, ?

(c)  What flowers do grow by (he brook for the happy lovers ?

()  Where does the brook murmur ?

(¢)  Where does the traveller in the poem “Ozymandias of Egypt” come
from?

3T ALTE [ 3] Contd,
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(g)
(h)
(1)
()

6. Answer any four of the following

V . 1 ] 1k \-"‘II {
Who could read the passions ol O2) mandias y

Who made a garland for the Tady’s head ?

What is an “elfin grot’ ?

Whose mother will wait and weep ?

What will bite the village girl in the darkness /

2xd=H

(@) Why do tears fall from the three youny, pairs of eyes?

() What type of forest do the children imagine from their mother’s
description ?

(c)  Why does the brook say, “I slip, I slide, 1 gloom, | ;',l.m(‘(""?

(d)  How and where does the brook flow ?

(¢)  What type of legs stand in the desert ?

(N What is still visible on the ‘shattered visage” ?

(¢) How did the lady look ?

() Where did the Knight make the lady sit ?

(1))  What will the girl’'s mother say . if her daughter is late ?

G) How does the village maiden ju‘u_y for her safety ?

7. Answer any three of the following : 4x3=12
(1) How does the poem ‘Sita’ reflect the poel’s deep love for nature ?
(b)  Briefly describe the brook’s journey through different places,

(c) Explain the significance of the expression, “nothing beside remains”.
(d)  Write how the strange lady treats the knight-at-arms,
(¢)  Describe in your own words, how the young girl is surrounded by

8. Explain with reference to the context on any ane

(n)

33T ALTE

dark shadows in the evening,

of the following :

' _ 5x1=5
[ saw pale kings and princes too,

Pale warriors, death-pale were they all;
’

They cried = “La Belle Dame sans Merci

Hath thee in thrall I”

[4]



(b) By thirty hills I hurry down,
Or slip between the ridges,
By twenty thorps, a little town,

And half a hundred bridges.

(c) Swiftly the shadows of night are falling,

Hear, O hear, the white crane calling,

(d) And on the pedestal these words appear :
“My name is Ozymandias, king of kings;

Look on my works, ye mighty, and despair !”

GROUP - B

9. Change any five of the sentences given below as per instruction given,

without changing their meaning : 1x5=5
(1) Sagar will help me with this project. (Change into negative)
(b)) She was not allowed to enter the house. (Change into affirmative)
(c) She is writing a letter to him. (Change into passive)
(d) Yam is eaten by the people of my country. (Change into active)
(e) She tried all plans. (Change into negative)
() Was that not an excellent speech ? (Change into assertive)
(¢) The ball was thrown by Virat. (Change into active)
(h) Can I ever forgive him ? (Change into assertive)
(i) People call him the pillar of the society. (Change into passive)

(i)  As soon as the rain stopped, we started the journey.
(Change into negative)

10. Add appropriate question tags to any five of the following : 1x5=5

(@) Your house faces the river.

33T ALTE [5] Contd.



(1) You will show me your new bike.
() He can act very well.

(d) ~ He Kkept his promise.

()  We're late for the movie.

() I was wrong.

(g) Please stop talking.

() 1t is very humid today.

(1)  You don't live here.

(7)) The girl is playing the piano.

11.  Fill in any five of the following blanks with suitable prepositions :

1x5=5
(1) What are you looking ?
(b) My parents live the countryside.
(c) Give me the book the shelf. )
(d) ' His father deals tea.

(¢) The hotel is adjacent . the police station.
() We will finish our exams two days.
(¢) Our relatives arrived the morning,.

() 1am fond chocolates.

(i)’ At last the bus arrived, and we got it,
() The scientist looked ___ the microscope.

12. Rewrite any five of the following sentences using the verbs given in brackets
in their correct forms : 1x5=5
(1) 1 (reach) Mumbai yesterday.

() 1 wish I (accept) the proposal.

(c) He (work) when she arrived.

(d) Shyamal (go) to work by bus today.

(¢) Purabi (live) in this house for twelve years.
() He (write) ten novels so far.

(g) All the trains (run) late today.

(h) Perhaps it (rain) yesterday.
(i) She wants to go for a walk, but she (not finish) her work yet.

() Do you still (belong) to that football club?

33T ALTE [6]
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Read the passage given below and answer the questions that follow :

15

The Pink Fairy Armadillo is the smallest of the armadillo species in the
world. It is 3.5 to 4.5 cm in length and about 110 grams in weight. [t can
sit on the palm of a human hand. Like its larger armadillo cousins, the
pink fairy armadillo has a shell on its top side. But unlike them, it is
pinkish in hue. The pink colour is derived from the animal’s blood vesscls
which are visible through the shell. It is unique to this species. So is the
extremely fine white hair visible from beneath the shell. Those blood vessels
and that silky hair are both part of the creature’s thermoregulation system
that enables it to the extreme variation in temperature in its habitat in
central Argentina. Exposing more blood to silly hot air or soil —making
the outer skin appear more pink —would lower the armadillo’s body
temperature, while draining the blood would enable the creature to hang
on to the heat it needs during the colder periods at night, as would the
hair, which acts as a kind of insulation.

Unfortunately, these tiny marvels are extremely hard to study because
they spend the bulk of their lives burrowing underground in search of
ants and larvae, using their powerful claws on both their front and hind
legs, which enable them to travel through the soil below ground at
surprising rate of speed. The pink fairy armadillo is extremely sensitive to
stress and none has survived in captivity for more than eight days or so.
While habitats change, increasing use of pesticides and even a growing
population of domestic cats and dogs are believed to be driving the Pink
Fairy Armadillo to near extinction. Scientists have not been able to
determine the status of this elusive species.

(1) What is the smallest armadillo species and what are its length and

weight ? 2
(b)) What is the speciality of the smallest armadillo species ? 2
(¢c) Which physical features help the smallest armadillo species adjust to
the extreme temperature of Argentina ? 2
(d) Why is it difficult to study the Pink Fairy Armadillo ? e
(¢) What causes are driving the Pink Fairy Armadillo into extinction ?
4

(/ Which word in the passage stand for “insect killer’ ?
(g9  Which word in the passage stand for ‘disappearance’ ? 1
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